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TestCommand.java

class Fan {
public void startRotate() {
System.out.printin("Fan is rotating");
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public void stopRotate() {
System.out.printin("Fan is not rotating");

}
}
class Light {
public void turnOn( ) {
System.out.printin("Light is on ");
}
public void turnOff( ) {
System.out.printin(“Light is off");
}
}

class Switch {
private Command UpCommand, DownCommand;

public Switch( Command Up, Command Down) {
UpCommand = Up; // concrete Command registers itself with the
invoker
DownCommand = Down;
}
void flipUp(') { // invoker calls back concrete Command, which executes
the Command on the receiver
UpCommand . execute () ;
}
void flipDown(') {
DownCommand . execute ();

class LightOnCommand implements Command {

private Light myLight;

public LightOnCommand ( Light L) {
myLight = L;

}

public void execute( ) {
myLight . turnOn( );

}

class LightOffCommand implements Command {
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private Light myLight;

public LightOffCommand ( Light L) {
myLight = L;
}

public void execute( ) {
myLight . turnOff( );

}

class FanOnCommand implements Command {
private Fan myFan;

public FanOnCommand ( Fan F) {
myFan = F;

}

public void execute( ) {
myFan . startRotate( );

}

class FanOffCommand implements Command {
private Fan myFan;

public FanOffCommand ( Fan F) {
myFan = F;

}

public void execute() {
myFan . stopRotate( );

public class TestCommand {
public static void main(String[] args) {
Light testLight = new Light();
LightOnCommand testLOC = new LightOnCommand(testLight);
LightOffCommand testLFC = new LightOffCommand(testLight);
Switch testSwitch = new Switch( testLOC,testLFC);

testSwitch.flipUp( );
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testSwitch.flipDown( );

Fan testFan = new Fan();

FanOnCommand foc = new FanOnCommand(testFan);
FanOffCommand ffc = new FanOffCommand(testFan);
Switch ts = new Switch( foc,ffc);

ts.flipUp();
ts.flipDown( );

Command.java

public interface Command {
public abstract void execute ();

}
Command
Transaction Command
Command Action Transaction . TCP/IP
Transaction
Command
Command switch case
switch . Command

Transaction
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TransactionCommand (Encapsulated)
TransactionCommand CommandManager
(Request) runCommands()
Command Command
CommandArgument, CommandReceiver CommandManager
AddCommand SubtractCommand TransactionCommand
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command "Command"

Command Command "Command"

/[TestTransactionCommand.java
import java.util.*;

final class CommandReceiver {

private int[] c;
private CommandArgument a;

private CommandReceiver(}{
C = new int[2];

}

private static CommandReceiver cr = new CommandReceiver();

public static CommandReceiver getHandle() {
return cr;

}

public void setCommandArgument(CommandArgument a) {
this.a = a;

}

public void methAdd() {
¢ = a.getArguments();
System.out.printin("The result is " + (c[0]+c[1]));
}

public void methSubtract() {
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¢ = a.getArguments();
System.out.printin("The result is " + (c[0] -c[1]));

}

class CommandManager {

private Command myCommand;

public CommandManager(Command myCommand) {
this.myCommand = myCommand ;

}

public void runCommands( ) {
myCommand.execute();

class TransactionCommand implements Command {

private CommandReceiver commandreceiver;

private Vector commandnamelist,commandargumentlist;
private String commandname;

private CommandArgument commandargument;

private Command command,;

public TransactionCommand () {
this(null,null);

}

public TransactionCommand ( Vector commandnamelist, Vector
commandargumentlist){
this.commandnamelist = commandnamelist;
this.commandargumentlist = commandargumentlist;
commandreceiver = CommandReceiver.getHandle();

}

public void execute( ) {

for (inti = 0; i < commandnamelist.size(); i++) {

commandname = (String)(commandnamelist.get(i));
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commandargument = (CommandArgument)((commandargumentlist.get(i)));
commandreceiver.setCommandArgument(commandargument);
String classname = commandname + "Command";

try {
Class cls = Class.forName(classname);
command = (Command) cls.newlnstance();

}

catch (Throwable e) {

System.err.printin(e);
}
command.execute();
}
}
}

class AddCommand extends TransactionCommand {
private CommandReceiver cr;

public AddCommand () {
cr = CommandReceiver.getHandle();

public void execute( ) {
cr.methAdd();
}
}

class SubtractCommand extends TransactionCommand {
private CommandReceiver cr;

public SubtractCommand () {
cr = CommandReceiver.getHandle();

public void execute( ) {
cr.methSubtract();

}
}

class CommandA rgument {
private int[] args;
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CommandArgument() {
args = new int[2];
}
public int[] getArguments() {
return args;

}

public void setArgument(int i1, int i2) {
args[0] = i1; args[1] = i2;

public class TestTransactionCommand {
private Vector clist,alist;

public TestTransactionCommand() {
clist = new Vector();
alist = new Vector();

public void clearBuffer(Vector c, Vector a) {
clist.removeAli(c);
alist.removeAll(a);

public Vector getClist() {
return clist;

}

public Vector getAlist() {
return alist;

}

public static void main(String[] args) {
CommandArgument ca,ca2;

TestTransactionCommand t = new TestTransactionCommand();

ca = new CommandArgument();
ca.setArgument(2,8);

Vector myclist = t.getClist();

Vector myalist = t.getAlist();
myclist.addElement("Add"); myalist.addElement(ca);
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TransactionCommand tc = new TransactionCommand(myclist,myalist);
CommandManager cm = new CommandManager(tc);
cm.runCommands();

t.clearBuffer(myclist,myalist);

ca2 = new CommandArgument();

ca2.setArgument(5,7);

myclist = t.getClist();

myalist = t.get Alist();

myclist.addElement("Subtract"); myalist.addElement(ca2);
myclist.addElement("Add"); myalist.addElement(ca2);

TransactionCommand tc2 = new TransactionCommand(myclist,myalist);
CommandManager cm2 = new CommandManager(tc2);
cm2.runCommands();

command

TransactionCommand TransactionCommand
CommandManager

CommandManager runCommands()

TransactionCommand
command
TransactionCommand CommandReceiver
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